
MATH1040 Basic Mathematics Practice Problems 6 ANSWERS

1. (1) (5, 13)

(2) x = 0; y = 0

(3) The lines intersect at the point (26, 5)

2. (1) (1, 9)

(2) x = 3; y = 16

(3) The lines do not interset, they are parallel.

3. (1) (8, 56)

(2) x =
π

4
;
5π

4
; y = −9

(3) The lines are superimposed.

4. (1) (−2, 5)

(2) x = −1; y = e

(3) The lines intersect at the point (10, 6)

5. (1) There is no solution; the lines are parallel.

(2) x = −4; y = 1

(3) The lines do not interset, they are parallel.
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